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QUESTION 1Which three pieces of information should be documented for each step in a design implementation plan? (Choose

three.) A.    step descriptionB.    design document referencesC.    easy guidelines in case of failureD.    estimated implementation

timeE.    simple implementation guidelinesF.    estimated rollback time in case of failureAnswer: ABD QUESTION 2A company is

implementing an Identity Management solution with these characteristics: - existing AAA Server- Cisco Catalyst switches- minimal

added investments Which Cisco Trust and Identity Management solution would you recommend? A.    NAC ApplianceB.    Cisco

IBNSC.    CSMD.    Cisco Security MARS Answer: B QUESTION 3You want to gather as much detail as possible during a network

audit with a minimal impact on the network devices themselves.Which tool would you use to include data time stamping across a

large number of interfaces while being customized according to each interface? A.    RMONB.    SNMPv3C.    NetFlowD.    Cisco

Discovery Protocol Answer: C QUESTION 4Refer to the exhibit. On which router should you configure redistribution?  

  A.    Router 1B.    Router 2C.    Router 3D.    Router 4E.    Router 5 Answer: B QUESTION 5Which three Cisco technologies can

you use to detect and mitigate threats? (Choose three.) A.    NetFlowB.    FWSMC.    ISED.    VRRPE.    sFLOW Answer: ABC

QUESTION 6Which technology allows remote networks to be connected via site-to-site tunnels? A.    IPsec VPNB.    AnyConnect

VPNC.    SSL VPND.    EasyConnect VPN Answer: A QUESTION 7Which RFC defines the IPv6 standard? A.    RFC 1918B.   

RFC 2338C.    RFC 2460D.    RFC 2740 Answer: C QUESTION 8Which first-hop redundancy protocol dynamically distributes

client traffic between multiple routers? A.    HSRPB.    VRRPC.    GLBPD.    IGRP Answer: C QUESTION 9Which three options

are characteristics of data center evolution? (Choose three.) A.    consolidationB.    virtualizationC.    automationD.   

standardizationE.    optimizationF.    modulation Answer: ABC QUESTION 10Which option is a benefit of the modular approach to

network design? A.    higher availabilityB.    repeatable scalabilityC.    increased securityD.    improved resiliency Answer: B 
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